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9 100kN/mM##BZ % 1.00/0.00 ~ 0.30 104.43|3mZE#ZB| - ~ - - -| 100kN/MZE#B 2% 1.00[ 1057 ~ 11.37 104.43|3m%#B x5 -~ - - -
ZThES 1.00/0.30 ~ 8.09 100.00] Zhist | 000 ~ 8.09| 2.23 11.95 ZTh LSt 1.00] 500 ~ 1057 100.00| #h st | 500 ~ 11.37| 2.23 11.95
3 100kN/mM#%# 8% % 1.00/0.00 ~ 0.90 113.50|3mZ#BZRB| - ~ - - -| 100kN/iZi#8 % % 1.00[ 10.83 ~ 13.49 113.50(3m%i#B% % -~ - - -
ZTh LS 1.00/ 090 ~ 869 100.00] #hList 000 ~ 869 231 12.39 Zh s 1.00] 500 ~ 10.83 100.00| #hlust | 500 ~ 1349 2.31 12.39
4 100kN/mM#%# 8% % 1.00/0.00 ~ 0.11 101.66|3mZi#EZ5| - ~ - - -| 100kN/iZi#8 % % 100 1092 ~ 1122 101.66|3m%i#B% % -~ - - -
ZhLS 1.00/0.11 ~ 7.90 100.00] #h st | 000 ~ 7.90| 2.33 12.48 Zh LS 1.00] 500 ~ 10.92 100.00f Zh it | 500 ~ 11.22] 233 12.48
5 100kN/mM#%#BZ % 1.00/ 000 ~ 1.20 118.14|3mZi#BZRB| - ~ - - -| 100kN/iZi#8 % % 1.00[ 10.93 ~ 14.69 118.14|3m%i#BZ % -~ - - -
ZThLS 1.00/ 120 ~ 899 100.00] #hList [000 ~ 8.99| 234 12.50 Zh LS 1.00] 500 ~ 10.93 100.00] #hlust | 500 ~ 14.69| 2.34 12.50
12 100kN/mM#%# 8% % -1 -~ - -|3mZz#Bz3| - ~ - - -| 100kN/mMZ#B 25 - -~ - -|13m%i#Bz% -~ - - -
ZTh LS 1.00] 000 ~ 6.98 88.52] #hList | 000 ~ 698] 1.69 9.02 Zh s 1.00|] 500 ~ 880 88.52| #hbList | 500 ~ 880| 1.69 9.02
14 100kN/mM#%# 8% % -1 -~ - -|3mZzBz3| - ~ - - -| 100kN/mMZ#B 25 - -~ - -|13m%i#Bz% -~ - - -
ZhLS 1.00/ 000 ~ 481 59.92] #hList | 000 ~ 481| 181 9.68 Zh s 1.00] 500 ~ 512 59.92| #hbist | 500 ~ 5.12| 181 9.68
15 100kN/mM##BZ % -l -~ - -|amzEZB| - ~ - - -| 100kN/MZE#BZ 2 - -~ - -|3m%EiEZ S -~ - - -
ZnLst 1.00{ 0.00 ~ 7.66 98.16] ZnList |0.00 ~ 7.66| 2.06 11.04 Zzh st 1.00f 5.00 ~ 10.55 98.16] Zn Ll | 500 ~ 10.55( 2.06 11.04
16 100kN/mM##BZ % 1.00{0.00 ~ 1.73 126.60|3m%EHE %% -~ - - -| 100kN/ %8z % 1.00| 10.53 ~ 16.62 126.60|3m%E# %% -~ - - -
ZnLst 1.00]1.73 ~ 952 100.00] Zh L4t | 000 ~ 9.52| 2.38 12.74 Zh st 1.00f 5.00 ~ 10.53 100.00f Z1List | 500 ~ 16.62| 2.38 12.74
17 100kN/mM##BZ % -l -~ - -|3mzEZB| - ~ - - -| 100kN/MZE#BZ 2 - -~ - -|3m%EiEZ S -~ - - -
ZnLst 1.00{ 0.00 ~ 4.90 61.09] ZnList |0.00 ~ 490| 1.82 9.72 Zh st 1.00f 500 ~ 5.26 61.09] Zznblis | 500 ~ 526 1.82 9.72
18 100kN/mM##BZ % -l -~ - -|amzEZB| - ~ - - -| 100kN/MZE#BZ 2 - -~ - -|3m%EiEZ S -~ - - -
ZnLst 1.00{ 0.00 ~ 6.10 76.52| zh st | 0.00 ~ 6.10] 1.74 9.33 Zh st 1.00f 500 ~ 7.00 76.52| Zh st | 500 ~ 7.00| 1.74 9.33
19 100kN/m##BZ % -l -~ - -|3mzEZB| - ~ - - -| 100kN/ %22 - -~ - -|3m%EiEZ S -~ - - -
ZnLst 1.00{ 0.00 ~ 479 59.73] #nList |0.00 ~ 4.79| 1.68 8.98 Zh st 1.00f 500 ~ 5.05 59.73| #n iy | 500 ~ 505 1.68 8.98
100kN/mM%#EZ % ~ ImEHEZD ~ 100kN/m%#BZ % ~ ImEBZD ~
Zh LS ~ Zh s ~ Zh LS ~ ZhLS ~
100kN/mM%#EZ % ~ IMEHEZD ~ 100kN/m%#BZ % ~ ImEBZD ~
Zh LS ~ Zh s ~ Zh LS ~ ZhLS ~
100kN/mM%#EZ % ~ IMEHEZD ~ 100kN/m%#BZ % ~ ImEBZD ~
Zh LS ~ Zh s ~ Zh LS ~ Zh LS ~
100kN/mM%#E% % ~ IMEHEZD ~ 100kN/mM%#BZ % ~ ImEEZD ~
LS ~ ZHNLS ~ ZThLLst ~ ZTHLS ~

DiE
..H.\
m|



